
Aire et Volume d’un Tronc de Cône (G)
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
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2 Volume =

π
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r1 = 116m

h = 174m

r2 = 87m1.

r1 = 98,6 cm

h = 136,0 cm

r2 = 23,8 cm2.

r1 = 78 hm

h = 156 hm

r2 = 26 hm3.

r1 = 107,57 cm

h = 138,26 cm

r2 = 16,12 cm4.
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Aire et Volume d’un Tronc de Cône (G) Réponses
Calculez l’aire et le volume de chaque tronc de cône.

Aire = π(r1 + r2)
√
(r1–r2)2 + h2 + πr1

2 + πr2
2 Volume =

π

3
h(r1

2 + r2
2 + r1r2)

r1 = 116m

h = 174m

r2 = 87m1.

Aire: 178.550m2

Volume: 5.669.902m3

r1 = 98,6 cm

h = 136,0 cm

r2 = 23,8 cm2.

Aire: 92.006,1 cm2

Volume: 1.799.473,8 cm3

r1 = 78 hm

h = 156 hm

r2 = 26 hm3.

Aire: 74.963 hm2

Volume: 1.435.632 hm3

r1 = 107,57 cm

h = 138,26 cm

r2 = 16,12 cm4.

Aire: 101.583,29 cm2

Volume: 1.964.042,94 cm3
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